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Unit 5 Practice Test: Functions

1) Let fbe a function such that flx)= 5x — 4 is defined on the domain 1 <x < GL!J_
a. Identify the range for this function l

| Ran
L 1<A0)<6 3. —0<fix) <26
X X 6 _ (. %
2. 26<f0)<1 G lsj(x)siéj\/t

b. Which statement is always true about this function?

M <o @ifx<1, f(x) <0

/Z./f(x)>0 4 ifx>1, f(x) <0

2) Answer the following questions for the table below

a. fo=_ [O b. x when f(x)is=6: L.f

¢, Rate of change from x=2 to x=6:

0 —
2 il
Slope m=29 _ =6 _ 3 PN

NX Q_q -2

e. If included in the table, which ordered pair, (-2, 12) or (2, -12), would result 6 3
in a relation that is no longer a function? Explain your answer. Q_ (2
(,2)_11) will result fo have no fuachon T -
3) Evaluate each expression below given that f(x)=3x+2 and & (x) = x .
Use two different ways to show the answer:
a f(=3) b g4 -
£(-3)=3-3)+2 9(y)=(y) =6
= -9+
= -3

4) Samantha is babysitting during weekends. She charges 3 dollars initial fees and 5 dollars for every hour she
babysits. Using the function E(h) = 5h + 3 will determine how much M-Money Samantha makes for

working h-hours. (6 pts) mean inj
a. Calculatc and Interpret E(10)

E(IO) S(l°\+3 53 For lOHoWS,j‘v\SLLﬁcg%ns

b. Samantha is babysitting to buy an I-phone case that she likes, the case is $118.Determine how many
hours Samantha would need to work in order to buy the case.

|[@=Sh+3 ks Whoun boesrn B

118=5h
s
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5) Consider the following piecewise function given by the formula

- ((—a<x<_1D
F) = {1 xzzx -

—1<x=3

a. Evaluate f(—1) = 3

b. Identify all x values for which f(x) =9
3_—‘_1x a_xz 10 -8 6 -4 -2 2 4 b 810
)

A B -4
&p | 34

6) A cell phone company charges $30 dollars a montlf for 800 text messages or lesg. If a family text more 800

o & & D

messages and up to 1200 messages, the company charges $50. It they text more than 1200 messages and up
to 1800 messages, the bill jumps to $80. This scenario can be presented by a function for which x is the
number of text messages and f(x) is the cost at the end of the month.

a.  Graph this function on the provided grid. \S J‘P

b.  How much would you have to pay if you used: 100 .
500 text messages ,H ; 5 § 2 E C #—
1700 text messages ﬁ g O ?:50 n Py
c. laterpret/(1400, 80). % ~
(40D faxds | the Cottis L |
Naumber of Tegpyieddees pamt
d.  Identify the dompain and range ﬁ 8 0 3 (in lllllged‘gzﬂ ’31 ’ § Iq
0
LX< 1300 U 130,350,803
b(x)
7) The accompanying graph is a sketch of the function y = f(x) s -

a. Identify the don-:ligi \é( é L‘

b. Identify the range. a <
—_A<Y<F
c. Evaluate f(—1) = — \a-

-

d. Identify the y intercgit. v

e. Identify the Maximnm the Minimum.
~ 1 A (d
f. Find the Average rate of change fromx = ;2 tox = 2 m= —_—
— DX

|-3 _=2_1
(2,3) M=~ 1
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Review Questions:

)
1) Which expression is equal t@

1. £+6
2 +9
X+6x+9
X +3x+9

2) Solve forx: 6(x—2)—4x=16

3.7
.14

3) Which value of x is in the solution set of the
inequality 2x+5>17? _ > l‘l

x<- 6

linear equation represents the data in the
accompanying table?

12

c d
1. d=1.50¢ 0 20.00
d=1.50c+ 20.00 1 21.50
3. d=20.00c+1.50 2 23.00
4. d=21.50c 3 24.50

5) What is the value of the y-coordinate of the
solution to the system of equations 2x + y =18

and x — 3y——3'? 2_)(.‘.5 8
(X 3y="

G -=> =y

g —2
h 3

2X+Y
-+ 6:;

1) A. What is the range of the graph below?

[-3, 1] and [4, =)
3. [-3, 1) and (4, =)
I

B. What is the minimum?

-

y=4

6) Which point is in
the solution set of
the following
system of
inequalities?

y<2x+1
1

y2—§x+4
1. (5,0)
(6,6)
3. (2,1
4. (1,9)

7) Find the value of x> — 2y + 1if
x= 2andy = —3.

8) Which sentence illustrates the associative

property?

=g (;'} x(yz) = (xy)z

2. x(yvt+z)=xyt+axz =
Distribyhve

9) Subtract 5x7 + 2x — 11 from 3x* + 8x — 7.
1. 22 +10x—17 3. gxl+10x—17
2. 2¢-6x—4

) (3x+3>(-'4) Sx3x-)

x93 =5x= 2x 4l
~2X +6x+Y
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